

$$a_1 + ar + ar^2 = 21 \rightarrow a_1(1+r+r^2) = 21 \rightarrow \frac{a_1}{r} + a_1 + ar = 21 \xrightarrow{\times r} a_1 + ar + ar^2 = 21r$$

$$a_1 \times a_1 r \times a_1 r^2 = a_1^3 r^3 = 4^3 \rightarrow ar = \sqrt[3]{4^3} = 4 \rightarrow a = \frac{4}{r}$$

$$\rightarrow (r^2 - 17r + 4 = 0 \rightarrow r = \frac{17 \pm \sqrt{17^2 - 4 \times 4}}{2} = \frac{17 \pm 15}{2} = \begin{cases} 16 \\ \frac{1}{4} \end{cases}$$

ر میخواب است پس ۱۶ نیست و ۱/۴ است

$$b^2 = ac \rightarrow (2x)^2 = (x^2 - 2)(x^2 + 2) \rightarrow 4x^2 = x^4 + 2x^2 - 4 \rightarrow x^4 - 2x^2 - 4 = 0$$

$$\xrightarrow{x^2 = z} z^2 - 2z - 4 = 0 \Rightarrow z = x^2 = 1 \pm 2\sqrt{2} \rightarrow x = \sqrt{1+2\sqrt{2}}, x^2 - 2 = 2\sqrt{2}, 2x = 2\sqrt{1+2\sqrt{2}}$$

$$2x^2 + 4 = 4 + 2\sqrt{2} \quad q = \frac{a_r}{a_1} = \frac{2x}{2x^2 - 2} = \frac{2\sqrt{1+2\sqrt{2}}}{2\sqrt{2}} \rightarrow ?$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11} \quad \frac{a(1+q+q^2+q^3+q^4)}{a_1 + a_2 + \dots + a_5} = \frac{121}{11} a = \frac{121}{11} \times \frac{1}{11} = 1$$

$$1, -, -, \frac{a}{r}, -, -, 4r \quad \begin{matrix} \text{مقدار} \\ 2a = 4r + 1 = 9 \Rightarrow a = \frac{4r}{2} = 2r, 2 \end{matrix}$$

$$1, -, -, \frac{b}{r}, -, -, 4r \quad \begin{matrix} \text{مقدار} \\ b^2 = 1 \times 4r = 4r \Rightarrow b = \sqrt{4r} = 2 \end{matrix}$$

$$a + b = 2r, 2 + 2 = 4, 2$$

$$-r^2, -\frac{1}{r}, \dots \quad a_{101} = a_1 + 100d = -r^2 + \left(100 \times \frac{1}{r}\right) = 1$$

$$\xrightarrow{-\frac{9r}{r}} +\frac{1}{r} \rightarrow d$$

$$121, a_1, \dots \quad a_n = 1 \quad ar^4 = 2^4 \times r^4 = 1 \rightarrow r = \frac{1}{2}$$

$$a_r, a_r, a_1 \rightarrow (a+rd), (a+rd), (a+rd) \rightarrow b^r = ac \rightarrow (a+rd)^r = (a+rd)(a+rd)$$

$$\rightarrow a^r + 1rd + rd^r = a^r + 1 \cdot ad + 1d^r \rightarrow rd + rd^r = 0 \rightarrow rd(a+1d) = 0$$

$$a+1d = 0$$

$$d = -\frac{a}{1}$$

$$\alpha \text{ --- } 0 = rd \text{ --- } \checkmark$$

$$\checkmark \leftarrow 0 = a+1d \text{ --- } \checkmark$$

$$u+d, a+rd, a+rd \rightarrow (a+rd)^r = (u+d)(a+rd) = a^r + 4ad + 4d^r = a^r + 1ad + rd^r$$

$$\rightarrow -rd + rd^r = 0 \rightarrow rd(-a+d) = 0 \quad d-a=0 \rightarrow d=a \rightarrow \frac{1}{r} = \frac{1}{r}$$

$$\frac{1}{r}, 1, r \quad r=2 \quad a_1 = a_1 \times r^1 = \frac{1}{r} \times r^1 = \underline{1 \Delta 4}$$

$$\checkmark d-a=0 \text{ --- } \checkmark rd=0 \text{ --- } \checkmark$$

$$rar, rar^r, ar^r \rightarrow rb = a+c \rightarrow r(rar^r) = rar + ar^r \rightarrow rar^r = r+r^r \rightarrow r^r - rr + r = 0$$

$$r = \frac{r \pm \sqrt{14-12}}{r} = \begin{cases} 3 & \checkmark \\ 1 & \times \end{cases} \rightarrow \text{---}$$

$$a_1 = r \quad a_r = \frac{V}{r} \quad a_r - a_1 = \frac{V}{r} - r = -\frac{1}{r} \quad a_r = r + (r - \frac{1}{r}) = \frac{\Delta}{r} \quad a_1 = \frac{1}{r}$$

$$a_{1r} = -1 \quad (a_r + K), (a_1 + K), (a_{1r} + K) \rightarrow (\frac{\Delta}{r} + K) \times (\frac{1}{r} + K) \times (K-1) \rightarrow$$

$$\rightarrow \frac{K}{r} + K^r = -\Delta/r - 1r + \frac{\Delta K}{r} + K^r + \frac{1}{14} \rightarrow \frac{K}{r} - \frac{K}{r} = -\frac{\Delta}{r} - \frac{1}{14} \rightarrow \frac{K}{r} = -\frac{r1}{14}$$

$$\rightarrow K = -\frac{r1}{r} \rightarrow q = (1r - 11/r) \div (-1 - 11/r) = (-\Delta) \div (\frac{r\Delta}{r}) = \underline{\underline{\frac{r\Delta}{r}}}$$

$$u+aq^r+aq^r = Vr \quad a+d = aq^r \quad a+rd = aq^r$$

$$\rightarrow d = aq^r - a \rightarrow a(q^r - 1) \rightarrow rd = aq^r - a \rightarrow a(q^r - 1)$$

$$rd = a(q^r - 1) \rightarrow r \times a(q^r - 1) = a(q^r - 1) \rightarrow rq^r - r = q^r - 1 \rightarrow q^r - rq^r + 1 = 0$$

$$t = q^r \rightarrow t^r - qt + 1 = 0 \rightarrow (t-1)(t-1) = 0 \quad t = \begin{cases} 1 \\ 1 \end{cases} \rightarrow q^r = 1 \quad \checkmark \quad q^r = 1 \quad q = \begin{cases} 1 \\ 1 \end{cases} \checkmark$$

$$a+aq^r+aq^r = Vr \rightarrow a(1+q^r+q^r) = Vr \rightarrow a(1+1+1) = Vr \rightarrow aVr = Vr \rightarrow a=1$$

$$d = a(q^r - 1) = 1(1-1) = \underline{V}$$